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ali
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Pz ot Szl plEin > gl gl par g eolsT (g0 SJuz 0 SITING Sl 4 ) giws (ul S
1wl b d>gi pjdle ... 2b dales
input(' ")
- Canl (63909 CBL > Hlitie Slle Fad 090 i
138 3)lg 1) ygsws ol Jl>

>>input(' please enter the number : ')
please enter the number number

o diloso (53909 L Hhme g osd Olr 1SS Ole e



Jd= s ) aad aaud 3l cwb 'o.u|,.a'5.o)9w Dly sl s ) O )be SO ygitwd é‘"l'f-)) P.a.M,:u Ky

ealed S)ly '
>>input('please enter your name')

please enter your name
ali’

Ans=
ali

. Cawl 204 3)lg C.wb Io,m).h..u,_g,s Jls o
s5md 03 1 45 0uiS pue s 1) (63909 £95 2L S ly T 09 L) Sl panly ST Js

- S 2oLl o)
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>>A=input(‘hello \n how are you \n please enter the number")
Hello

How are you

Please enter the number

o b 4T ioles disp

2390 50 S Sl iy b g (5338 puitio Sy by 4TSS 05l Olis (510

oS {enter} g @wS 3)lg ) 4T pb 45 @uS Joo 49502 @ilys o0 LT 031 OLLS sl 4l
S ML IS 595 0305 Glules 4T e eudlyse (89 Jg . 394 315 Giules OT laie 9 4T pL s

>>=3;
>>q
a:
3
2l (o0 208 B Olgz p9d Caowd
>>a=3;
>>disp(a)
3
398 oo W23 55e s g ol Fwly s &S
S @l dbgy o a0l JS ) doz SG eadlyS 0 >
>>a=3;

>>disp 'your answer is';disp(a)
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function d=numadd(a,b,c)

% this function is additional of the three number

d=atb+c;
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a=input('please enter 2 and press enter');
if a==

disp ('your entered number is 2');
end

Running the program ................

Please enter 2 and pess enter
2

Your entered number is 2

H(d9d (o wbgs M-file )3)aslod g5 1) o @

SO0 ol i s else

2S5 Gawo o 3)lg bl 45 G )9u0 13 9 33,5 so vkl 1 Ojle Y15, giws ol

a=input('please enter a number :');
if a==2

disp('your entered number is 2');
else

disp(' your entered number is not 2');
end

Please enter a number
4

Your entered number is not 2
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a=input('please enter a number :')
if a==2
disp(‘your entered number is 2')
elseif a==
disp(‘your entered number is 3')
elseif a==
disp(‘your entered number is 4')
else
disp(‘your entered number is not 2 3 4")
end
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Switch ...... case .....end
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a=input('please enter a number :');
switch a
case 2
disp('your entered number is 2")
case 3
disp('your entered number is 3")
case 4
disp('your entered number is 4')
otherwise
disp('your entered number is not 2 3 4")
end
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for 1=1:10
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end
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for i=[1,4,8,4,3]
disp('level)
disp(i)

end
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a=input('please enter a number :');
while a ~=1
if a>1
a=a-1;
end
if a<l
a=a+tl;
end

disp(a);
end
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continue
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for i=1:10
if i==5
disp('This level was jump');
continue;
end
1
end
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break
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fori=1:10
if i==5
disp(' in this level path of running was jump out of statement');
break;
end
i
end

&)



b)&)éw

S S le 13kl b Jos ol - oS S 5 1) b pd oy iz 2l p Y Gl (ySow Sl 218
+ sl ploil Jy6 i
3z b 93 51 (o padlssn 45 590 03 9 (& ) 3138l 5 0laj o 3 b 93 panlssu S|
- S (o o3kl (| ) Sl S o by

3l )d dzgi ) s Jle 4

a=input('please enter a number');
b=input('please enter a number');
ifa>0 & b>0

disp('aand b are positive')
elseif a<0 & b<0

disp(‘a and b are negative')
elseif a>0 | b<0

disp('a is positive or b is negative ')
elseif a<0 | b>0

disp(‘a is negative or b is positive')

end

S A lio 40l s 5l QU395 Judowi b 1) 238 Sl Ols> 9 S Lol 1) 4ol o

&y



format kind

format short

Caopd £95

format bank
format short
format short e
format short g
format long
format long e
format long g
format hex
format rat

format +

FORMAT

3,8 0abii5 ) a3 b 1 03 Bl Gy B3 osilg oo @ (ol aswy

139 (g0 03liiwl G5 (3 ygiwd (il

a9t 1) OT Cuo pd £95 dbgypo B> bl 2 9 eamugis |, format b a5

L 2db g0 pab B e B> g9 Kind

© Do QL;Z.J)L;Z..::IPB))L@:;IH)):;L&),:NA‘ﬂl

c 21D a8 il £lgil 4 Jl>

25U o9 (2 232 9 2 150) Jlo
el 03 95 3.14
el 03 Jlex 3.1516
Ld juoo Jlinel 03 lex 3.1416e+000
short cl> ¢y s 3.1416
el 08, 23 354 3.141592653589793
29Ld jaoo el 03 03 3 3.141592653589793 e+000
long cdl> ¢ yige 3.141592653589793
Jlowws 138 bl 400921 b54442d18
ibio pS O gy 355 /113
sign  Cualle @b bl 0 +

T s95wd (] S CNLET 9 o 90 1) g baiid 45 Caol O ygu0 (2l 4 o fOrmat > )18 ogou

>>format long
>>pi
Ans=

- Cawl 035 )=l Hgiwd (9 )15 (Sl

3.141592653589793

>>format short
>>pi

Ans=

3.1415

¢y



NI T

oS 3,8 ol pslis bl 1y yy3lie 45 sl pjY Sl iy

e oo b @le ol ol oo

&b &L > Sdos 2.4 ¢l p s Sdos 2.4l 0 5 Sdos
fix )Jsuaé)f)éao&m»ﬁb))c 2 -2
floor 23S 0 3,5 Culgin shio Coow 4 1) 322 2 -3
ceil S 0 3,8 Sl Cudto Caoww 4 1) 322 3 -2
round 35 Soled (3 )5505 35 Caow 4 1) 322 2 -2

32 g0 OLES ) VU golgs 1 osliwl a9 ) JLe

>>f1x(2.4)
Ans=
2
S (o0 LS ) Hwbg YUl a35leudl Jlade 45 g5 £95 (2] PRI
mod VU 1 oy 1 yaag 23500l
rem o=l Jl (s Jl o 35leuBl

>>mod(-5,3)

-5+2%*3=1
Ans=
1
>>rem(-5,3)
-5%1+3=-2
Ans=
-2
>>rem(5,3) Sl ol g 95 ol cwb
>>mod(5,3)

- Gl (SO mod , rem Gl)._u'cml.:.»i)l.g)ﬂ).gLs),),)ﬁﬂa’)i}anch;)yo))

¢¢



>>primes(11)

Ans=
23 5 7 11

SOV Qg

Jsl slael primes

CSwe Gl 3 3 l9 322 U o jl Jgl slacl &_ab‘ ol

>>factor(100)

Ans=
2255

Jal slael 4 4 jou factor

L3S oo o Jgl slael 4 1) a3 5)lg 332 @6yl

>>farctorial(6)

Ans=
3628800

¢o

JgsS  factorial

S g0y oad 3lg dae Jo)eS B oo



S o dale pymdo o 5,50 ged
233 o0 BN 2ab 5 l9 33e 95 S e 4..,1.;?,...3.0 u-')-s))-’
>>gcd(12,36)
Ans=
12
>>gcd(12,20)

Ans=
4

S Jlno O pudo (2 JiSZ9S lem
c S o0 duwlmo 1) 5o 3)lg D32 93 S pidie O o (2 S8 9S
>>lecm(6,22)
Ans=
66
>>lem(2,5)

Ans=
10

2



iz il

o ,a5  abs
S 0 1) (39,9 e (Caio) Glhao )38 lade
>>abs(-2)

Ans=
2

>>abs(-1)

Ans=
1

bliso 33e cslw  complex

23l oo l) dbgs o bliso 3 ¢ 09B g0 9 SHuii> 33 Olgie 4O 93 0O, 3l L
>>A=complex(2,4)

A:
2.0000 + 4.00001
oyl L;wi format 4 Lkid YU Jlo )d jucwe dlows

bliss 33 09290 Caomnd imag

>>a=complex(2,3);
>>imag(a)

Ans=

¥ L8l oo ¥ O (om0 Jlaio 45 a& 2431 @ laio Jlko ) >

1Y



>>real(a)

Ans=
2

bl 33c > Caomd  Teal

.»A@delnql)blm' d3e > Caomnd )ginwd oy

bliseo obd 49l laie angle

38 g0 Sl bliseo 0w )3 1) (B 9lj Jlade U ol

1) 13a0 9 038 5 )l o pulwl o 20l JuSld Yl 9l €5 Cawl blieo 32 SO U (0l (6399

>>angle(1+01)

Ans=
0

>>angle(-1+01)

Ans=
3.1415

>>angle(1+1)

Ans=
0.7854

.»)Ga

>>conj(2-41)

Ans=
2.0000+4.00001

EA

bliss 793 jo conj

.).iswclﬂ |)b.1.'£.‘5uc§))'.n)|)ﬁ.o



>>sqrt(9)

Ans=

o Qg

£9> LAY sqrt

S o0 ) o )l Ylade Hi= Qlo.bl._a_‘ogéd.&._a_)ﬁ.\io

>>a=[1,2;1,2];
>>sqrtm(a)

Ans=

0.5774 1.1547
0.5774 1.1547

>>a=[2,2;2,2];
>>sqrtm(a)

Ans=
1.0000 1.0000
1.0000 1.0000

o sl pes din, sqrtm

.).isw%wbubwﬂlofg)%iu_‘)

>>nthroot(8,3)

Ans=
2

€9

s3e pln din) nthroot

...).isun‘tf.wl:u|)>.>.cf|l'l4&i)



>>power(2,3)

Olgs power

< lwy o0 P92 Jaie Oles @ 1) Jgl Jlade

Ans=
8
93 Slwo 2 Olg5 pow2
LS s0 02 3lg dae Olgg 4 1) 9
>>pow2(3)
Ans=
8
sl U exp
SIS (oo o ) X Ol v Oloa b (oles U lado
>>exp(1)
Ans=
2.7183
(g 1) el Oloa)seT Cuwdy i 338 l3dio
POPILY) log log2 logl0O
-Gl € Sline 2 b (2 e Oloa  log
Gl 95 Slio 'o.u)lil 10g2
. Cawl 03 (Sl » M)&J lOglO
>>log(2.7183)
ans=

1

323 1) g e e )& Logm



Skie A

S 5 5 3979 Flikie @lgi 390 )3 JolS 9 598 (St Il 4z SO o )3 b Ll 05 ilen

32 o ) lade COlBLS 9 COlBL jugianS jwgimw m3lie SIN COS tan cot wlgs
383 g0 ) Vb pilg5 jweSeo wslie asin acos atan acot gilgs

323 20 1) Vb @ilgs Sgspad pslie sinh cosh tanh coth  gilgs

3230 ) Sgopud pilgi jwsSee pslie asinh acosh atanh acoth  gilgs

- gine &L Joliio QL) s 1) Yladio 45 Cawl 595 (030 Skt @ilgi jl ooliiw] 0 gons
>>sin(pi/2)

Ans=
1

>>asin(1)
Ans=

1.5708
. Gl P1/2 Olos &l 9> &S

dd)}hﬁé),ﬁ&w)hbl)) S Caul 2 aBldS PYALE FERLY) bp._:).o éﬂy »UL gV e >

>>sind(90)

Ans=
1

>>asind(1)

Ans=
90

o)



M O',gﬁwé

4L cwl J isempty

5z b 3)lge ol )3 39 0 SIS0 225 Olgic E9ud90 Mz jl (S0 LRSI (5l 0 input jl OBl i
23,8 3)lg 1y yols dae
1939, 1 4o 45332 03,5 )9 LS 30w S L 90090 Jo9) Sl Wb w03 S 42,8

S S HES )3 393 4393 1) 338 SO dgub CNEET 9 3945 3l (5338

1 go to first page S o ol 4l (52l 1 g b g5 ol
2 go to second page 39 o iy 6557 T Wb OB bt
3 exit

Please enter(1-3)[1]

3,509 ) YV ) soe dw jl (SG (63909 05 2L S dadwe QLIS 1) sad |l giws YL JUs
G332 03,5 39 093 )51 4S5 Camwl (G520 (330 2| Camol D2 i [1] 4 swin g0 b3 o 3T 0>
2313 o 2 L) oyled (6399 Olgie 4 @23,S {enter}

SIS 005 1) o3 3,ly laie ygiws 45 495 (239 39b 00 plouil iSEMPLY ygaws by IS ol
ol salgs ¢ xils JB 815 ) gy s asb JS

>>a=input('please enter the number :');

please enter the number
.S o tenter} 33e 03,5 sl 09

>>isempty(a)

ans=
1

G L Gl 3ae isnumeric

S g0 w1 Jlade 039s 330 bid il o ISEMPLY dSlo ju giws (o
>>a=8
>>isnumeric(a)

ans=
1

oy



>>a="ali'
>>isnumeric(a)

Ans=
0

G L Gl ol 0 isequal

SIS o dwnlio ) Yladie 95 J9 sitwd S5 )giwd 95 dibo s sgiwd ol
>>a=3
>>isequal(a,4)

Ans=
0

G L Cunl > isreal

MiSus w22 1) 83909 U392 i
Sgdamo Auii> 338 3L ¢ ogdge Caond iy Y LS| 45 Canl XHY hliss 332 G puil> (o0 o

>>A=1
>>isreal(a)

Ans=
1

039 Jsl 33 isprime

- Sgduo sw 03 319 HlaEe 0391 ol 332 Olojd ol sl b
>>isprime(3)

Ans=

1

oy



by &l

CaBS g0 OLES Y15 0 SO Oygo W 1) eSSl Ol clock
>>clock
Ans=

1.0 e+003*
2.006 0.007 0.0260 0.0010 0.0360 0.0179

S oo S Dygeo 4 1) EU date
>>date
Ans=
26-Jul-2006

- pasine 8 s Oloj (30 S tictoc
398 )zl 10C 45 (B9 U 5gd (g0 g9 0b S5 Oloj tIC szl oy g9b Oloj

>>tic
>>
>>toC

Elapsed time is 10.031000 seconds.

3905 12l (6,55 Olygiws  tOC.. T1C Ol)gaws (pul Gt bo Olgs (50 FR3 oonee YU Jbo o

Wl > o &S pause

>>pause(10) 23133l (50 52925 1) pitaamw YIS dolsl oaud 3)l9 45U camn>

o¢



>>a=[123;456];
>>numel(a)

Ans=
6

4l)1 slacl slass numel

L33 oo b gl SOl 4l slass

>>a=[1 2 3];
>>]ength(a)

Ans=

3

>>a=[123;4 5 6]
>>]ength(a)

Ans=
3

)l))._» d,b length

[n,m]=find(a==k)

n=find(a==k)

LS e o WL TS Lo ) pols il find

: 23S o o LT )3 1) pols w13 B9 Ol )gsws

)-b)‘sau,mj)b.wu-w})a ¢ a uu..a_).'il.a))b k QG’M‘Q_'))J"JW)

00



> |y uw).alo w).ilﬁt.")’w Q-.’,”-_"-"A-w'dﬂj}"wﬁ a6k Lds P’)),&»)Gwﬂb))

>>n=find(s>3)

(Gl 02 200 oy SIS ol o) s e vl o)l

ol 45 e (505 0l size

239) 50 )50 g UV 9 Ogiw 9 b Slas Oab pyleo (5l g ol

o ile haas 31385 0T gl 4103 45 39 g JuSts 152y yilo 5 guawly 43 ¢ ol 511 b

..... 9 33L oo LY 313w pguw l)s 2L adls 4V Sy Ogiw dlams pgs ) 9 o3 (B 20

>>s=[123;456];

>>s1ze(s)

Ans=
2 3

>>[n,m]=size(s)

size(s,DIM)

s G 698l ) ygiws puilgd (00 Sbs

P29 50 Uit S (p23e eilag ) o Lo Sl sy G 0 |l biid eaalgsu S

e 9 pow 3 4V p9d 3% Ogiw Jglamy jhuw 45 Sl 32y Oloa x| )5 DIM

>>s1ze(s,2)

Ans=
3

o

: O g Slawi (gl 0



P slew ibo

292 o pile magic

C33b plp O Ogiw 9 s S 41)3 Rox 45 51 695 4 3jle (g0 838 319 425 b @20 G sbo
>>magic(4)

Ans=
16 2 3 13
51110 8
9 7612
414 15 1
$ai sk rand
. )jh@bﬂ))'j@?))l{&)bﬁwﬁb
rand(n,m)
-l (3Lar OT s 413 45 3 jke (o0 ) NFM a5l Jgiaws ool
rand(n)
s Gl (B3Uas OT S 415 4 35l (0 N @20 ot pilo g 2
>>rand(5)
Sl p silo cye
3l 228 3)lg 450 b Sled s sile SO 9w ol
eye(n)
- il eadlsS o0 &5 Sl o o 4>)5 1
>>eye(3)
Ans=
100
010
001

oy



o 45 2% ales widle 425 (I b gwn pile (Ogiw 9 phaw) 3948 i p5 jiol)l 95 Jgiws ol J3 S|

C3b b e SO (MFNL 9 ) ol hE 3 39290 S w3 9 ko OT b 4>

SO o sl ones
23l o0 SO s 4 L s Sl
b adlgS 4Bl dae Oled 425 b @0 g sle < 2D dae SO pad Ly i o)l 45T g0

S (g0 JaSKAT 03 3)lg 430 bl o s Lo 39 S l9 Do 95 &S S0 > (9
>>ones(3)

2o s il Zeros

3l g0 piuo 5l 413 b g e
>>7zeros(2) c2b L o0 ONES dilo Wb )giiws (2l 5 Sdoc

ans=
00
00

oA



o plo g9

wﬁb))ﬁb)wﬁfj)'g max

35S g0 139 Ogiw b ) pol5 320 5 1) e le S5 s Gl 2 58 ) s sgiws

max(a,DIM)

129 g0 Adgl BeSiud ygiwd ol

4 5 a5 85 3 ) SG 338 e 2L G Sle 329 | pids b 93545 519 DIM S

>>s=[123:456];
>>max(s,2)

Ans=
223
456

c bl o O 'o.u)SLn Olod

>>s=[123;456];
>>min(s)

Ans=
123

o9

ow sl 4l iSzeS min

233 oo ) gu Sl by (2 85 eS

Gl max ssle Wds )giws jl aslaiwl g

- 33850 |y ) pouine O gt S el 9 8385 319 DIM ) giws ol )



b 45 03,5 i e sort

CMS (o0 g0 ) g Ot b b (590 2 397 90 s Lo &U ()

3o Vo (5l gt il ygiand (ol (5 S S g
>>k=[312:733;826],
>>sort(k,2)

Ans=

N W —
AN W N
oo 3 W

¢ Cannl kH-.o| uu.!).al.o 20 O ¢ Gl oo b))ﬂf ) 95w L')-_J_l 2345 gl =09

..\.b).ﬁ.oQWGLolw)JlaJ)bLhQ'))QlS.oC))}o.io__J)ajlwuia_{

P3S4z g JUo (pl @

>>k=[312:733;8206]
>>[m,n]=sort(k,2)

o0 0 W
N W =
W

N W —
AN W N
oo 3 W

w'b).&ua)owyl.o m;';,b.m ”b),.u»)))
lgwﬂlow|)>)5uﬂa4i|)>4s459§9).g cCwl O G b Nl ke
4l S aas o0 0l ) ol G sile o3 ) 4l ojleds 23l 5 p0 s sl

Gl 2%



b 4l ggoxo sum

LS g0 dulme g 5l S 3 1) g Ll b B phs £g0me gt ()

: Cawl 498030 Jgiws oyl il o3liiw] 2920
sum(a,DIM)
o9 g0 4B S L5 3 ) ac bl olail by s9is s ly DIM oS 5900 >
>>s=[123;456];

>>sum(s,2)
Ans=
6
15
CAS (o0 @o eab ) phu )5 8lg s 41 £ g90mme Vb giws
b 4l)s o malol>  prod
.Aiswg)ab'o.bjbl)hq|)))9h>w|
prod(a,DIM)

Gl SUM si5bo B> Hgiws ol 5 )8

>>k=[12 3;4 5 6];
>>prod(k,2)

Ans=
6
120

L 4l puShe mean

mean(a,DIM) ¢3S o ) b w15 (Sl
- Gl SUM 35k Wids > )8

>>mean(k,2)
Ans=

2

5

1)



ol b diag

o Sl dly 383 (0 (gt G ile SG Dugo 4 ) @0 g sile ol ShE ) giws (il
CAR (g0 b L) 2ol (B pme (S b by (Feiw g Sle b pBLke @1 0
diag(a)
2Bl Sow by @ e g il S SilgS o0 A

>>a=[123;456;7809];
>>diag(a)

Ans=
1
5
9

>>b=[12 3];
>>diag(b)

A(MFN) 2S5 @ 09 (S9iw jaE9 Sobw uf 3% 3)lg G ple &S (S g0 4>
- 390 3lys (MFM)L 5 (1%1) slo 0l 13 @l5 b 4> syiass gusly

o Pl Olise 5> det

C 2Bl @ e b oad (Dm0 e Lo
>>a=[123;456];
>>det(a)

?7??Error using ==> det
Matrix must be square .

1y



>>a=[42 3;4 6 6,7 8 10];
>>det(a)

Ans=
22

o il g I trace

.)»Sgowbm |)‘;»p|).b§))&3|9 6‘.& 4g.|)) Egoxo
>>a=[42 3;4 6 6,7 8 10];
>>trace(a)

Ans=
20

C 3 alyS gox 0a b (171) b )3 23l @ e G le 45 (o900 23
>>a=[123;4506];
>>trace(a)

Ans=
6

s pile 45 0 rank

by o Oginn b phaw) 2l Jite o pile &5 (1 423 (2 S ) 32 (P2 g Sle 45 0

(235 65 L gemmo
>>a=[123;246;678];
>>rank(a)

Ans=

2
>>a=[123;256;678];
>>rank(a)

Ans=

3

ay



UL sl Jbo s
G o 13 i3 et 4l Ul s 1l 95 35 s Jlhe sl 3

Sl 230l Ol
pow 9 093 sl )55 45 03 0313 jun p9> sl 93 wl)> Jlie (yue9s >

a2y 3 g pile i,z flipdim

3l g0 20l iy i 32y 9> ) g e
flipdim(a,DIM)

>>a=[123;456;789];
>>flipdim(a,2)

Ans=

ou Sl cwl) oz is 2 liplr

.ﬁléﬂ@&»b,ﬁ&),ﬂ@l)w)ﬂo
>>a=[123;456;789];
>>fliplr(a)

- abbae flipdim(a,2) sislo Wds )giwd 3,5 )15 4S Suino

¢



. Gl Aliplr aislo YolS
. sslwe flipdim(a,1) sibe o1 5,518

>>a=[123;456;789];
>>flipud(a)

Ans=
789
456
123

ow sl jus 2 rot90

.ﬁlé)gso@))ﬂ' b)|)5|4._»|)w)3lo

>>a=[123;456;789];
>>10t90(a)

<38 odlawl o) giwd jl Olgine Calio sl Cgzr o S, sl 0
rot90(a,k)
W})wop6|y6mlmﬂ')|wﬁowyb)) ngb,.g).ow)Slo al."_r.i.g_|)>

>>a=[123;456;789];
>>10t90(a,-1)

Ans=
741
852
963

Y]



Jb L,

Jasin O3S 0 a3 save

. 23S g0 03> current directory asls s 1) sad 3 p2e s

>>save parameter
>>

g g0 Aldgi pustie pU parameter l> 4 Vb Jlo o
SIS mwly save  )giwd

2 b o 0le> BB it b Jaid g oyl g a3 0 pusd el b

b e O3ilgs> load

(g 5le) (5328 900 4 45 giso 6 2lg5 g0 Cymizmod . 33193 g0 ) 02 5 jusd o @I o
2ilgst oad 4ndigs

>>]oad parameter
>>

39 08305 Y18 dbgy po sl )b pU parameter gl> 4 45

: pailgy Bl pudlys 45 J)ge0 U39
>>parameter=load('"name')

- pad o yolaiS| jusio 4 &5 Cuwl (oU parameter g Cuwl g b Cao 99 pbname ) giws ol )>

Parameter=

editor ;5 B ©v>,S;L  open

>> open('name') xS Jb padlg> oo 65 Cawl (LB b Olon Nname

"



ol J315 53 s pile (pdes dlmwrite

.)}g)@&h&@g&&b))bm‘ﬂm & ulo...h.u > )-_vl)b).afa',am' & u.w).alo&vb 0.3‘|
DLMWRITE('file.txt',M,'delimiter',"\t','precision','%.6f,'newline','pc")

2l (go gt IS S8 Vb b
gk >
- 2blao s>95 L1 pU File.txt
oo BB US55 eadlys o 45 Camsl g 5o pb M
9 (SIS &5 S Lasine ) s S s b 4l il 13> 292w 'delimiter’
caddwe Ol ) Oloa
Gt 35 4y (35 ol ) tab b 43 (e oyl 35L) 2l \t (532 4alS S|
239 o0 b (S
 3igb g 13z o3 51 J5S o b b 4l (1) 3ile ) 2L G s3m 4l 515
L3S0 20 32 IS 1) OT £95 5L S s o2 Sl 9 22 &1l &8> 'precision’
el 03y G b imy | %6f
polee (Lol o jile J3 1) g pow 9 093 S shaw Ly p25 4y yb Caonnd (| 'Newline'
A 2inlgS dilig @B pw Sl D geo 4 L1d dod YIS Ly pRT Dygeo Y3 S XS (0
2+PC > L uNixX Gulul b e 43 ) 39Le 'newline' b ds s 'pc’

(398 o0 aigs CR/LF

5o JB Olg> dlmread

Cpola ) siie B 4695, euiles g0 sgiws (I b

IS g0 )1)S o3laiwl 550 49503 (G989

dlmread('file name','delimiter’)
2345 SIS delimiter gl 4 9 dbgs po Jio J216 a0 d 9 pU file name gl 4 VU ) gaws >
AL gud slael Hule Gio L )> 45 (Jog90 )3)eaiS S)lg b L e xS bz ) by 4l Gike S0
(csldS JB sl b s delimiter sl 4 35l oo 1oz dlold b ks 9 5155 3929

v



o JB Ole> textread

c2ilgsu 1) ke J1B Silg5 po @ o

3Bl (oo ) g 4 gies (2l S

textread('filename")
[a,b,c.d,....]=textread('filename','format')

cpaS )la L L pU b hitd | ey Cawl (pa 0 Yo IS Ul g

Slesgiw Jl plsS 2 45 Cuwl (Fgiw sla o Sl pbdor abcd ... pgs ygawsss J9
39 (g0 By pBlie S G ple 0> Cuwl) 4l i T U i S

S5 g0 gl 4985y 3 Cuopd SO Ugie b Sl 4 &S D9 g0 iy p2T 495 (3 Format
L) site o U3 39290 33 £95 d S euds o 0lis %d SGLL plaS o 45 4598 3

.n)w'-,w"'
:ﬂj'))ﬁ@b)ud&o4{”‘.}),&»)0)‘.’3”?6'){

L i b slaelgadl sxe ylez OT phaw jd 45 pan gine S0 Jb Sy current directory 4sLs s

cpaS 500 33 (Sl P SU L g bl oad b JU gl S

(1> 3als3 s play et 4 )5 9 33b Jlez Li> 2L jhuw ja )5 slael slass)

C S IS ) Hgrwd S )l pa sgiwd 03 1) B el @98 LB Ol sl
[a,b,c,d]=textread('file name'),'%d %d %d %d")

2330l Ol > G, Cawl 228 ail3S JI> sLad Yod jlplaS ja Ole 43 45 23S s0 495
L9 oo g b %d Ol J3 1) Oled (UL 3,15 3959 S az sb S0 J21
9 (g0 Ayl 579 S 7 M e

T g0 03 ) )90 4 VL giwd 02135 oS g JB slab sl 4 e o1 5 ST Gy

[a,b,c,d]=textread('file name"),'%d,%d,%d,%d")

TA



SO 9O o
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>>x=-pi:pi/4:pi;
>>y=sin(x);
>>plot(x,y)
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>>x=-pi:pi/10:pi; {enter}
>>y=sin(X); {enter}
>>plot(x,y)
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>>x=-pi:pi/10:pi;
>>y=sin(x);
>>7=c05s(X);
>>plot(X,y,X,z)
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>>x=-pi:pi/10:pi;
>>y=sin(x);
>>7=c0s(X);
>>plot(x,y,'b:d",x,z,'rp-.")
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>> plot(x,y,'b:d',x,z,'rp-.")
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title('string')
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x=-pi:pi/10:pi
y=sin(X)
7Z=c0s(X)
plot(x,y,'r>-',x,z,'bd—")
xlabel('x")
ylabel('sin & cos')
title('sin & cos functions')
legend('sin','cos")
text(0,0,'sin")
text(1.7,0,'cos")
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subplot(m,n,p)
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x=-pi:pi/10:pi;
y=sin(x);z=cos(x);t=sin(x).*cos(x);
subplot(2,2,1);plot(x,y,'r');title('sin");
subplot(2,2,2);plot(x,z,'y");title('cos');
subplot(2,2,3);plot(x,t);title('sin*cos');
subplot(2,2,4);plot(x,y+z);title('sint+cos');
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>>t=-3%pi:pi/30:3*pi;
>>x=sin(t);
>>y=cos(t);
>>7=t;
>>plot3(x,y,z);
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[X,y,z]=peaks(n)
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[x,y]=meshgrid(x) -> = [x,y]=meshgrid(x,x)
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>>[x,y]=meshgrid(-2:2)
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mesh(x,y,z)
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>>[x,y]=meshgrid(-3:.1:3)
>>7=x."2+y. 2

>>mesh(X,y,z)

>>colorbar

>>title("'mesh plotting for z=x"{2}+y"{2}

mesh platting for z=}{2+3t2
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>>[x,y]=meshgrid(-3:.1:3)

>>7=x."2+y.2;

>>contour(x,y,z,15);

>>colorbar

>>title('contour plotting for z=x"{2}+y”~{2}")

contour plotting for z=><2+3,f2
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>>contour(x,y,z,'showtext','on")
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>>meshc(X,y,z)
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>>[x,y,z]=peaks(30);
>>surf(x,y,z)
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>>surf(x,y,z,'edgecolor’,'none")
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>> surf(x,y,z,'facecolor','red','edgecolor’,"none");light
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>>surfe(x,y,z)
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>>[x,y,z]=peaks(40);
>>contour3(X,y,z,20)
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[x,y]=meshgrid(-3:.1:3)

7=X."2+y. 2

plot3(x,y,z)

colorbar

title('plot3 plotting for z=x"{2}+y"{2}")

plot3 plotting for z=x2+y2
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>>[x,y,z]=peaks(30); - 380 G ) ($320 A Oloww )5 Giales sl 1) (093 OS
>>mesh(x,y,z); - 3wled )y 9> Glm b FumBge b Suilg g0 &S
>>view([4,4,4]);

38 dlio o2 b 1) LT 0395 b puiSuo sy s 233z b 1) b S Jlio ol o>

[X,y,z]=peaks(30)

subplot(2,3,1);plot3(x,y,z);title("plot3")
subplot(2,3,2);mesh(x,y,z);title('mesh')
subplot(2,3,3);surf(x,y,z);title('surf")
subplot(2,3,4);contour(x,y,z,15);title('contour")
subplot(2,3,5);contour3(x,y,z);title('contour3')
subplot(2,3,6);meshc(x,y,z);title('meshc(contourwith mesh')
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>>ezplot('sin(x)')
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>>ezplot3('cos(t)', 'sin(t)', 'sqrt(t)", [0,6pi])

w=cos(t), y = sinft), z = sgri(t)
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>>ezmesh(' (x*2 +y"2")
>>colorbar
>>title('easy mesh plotting')
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>>ezsurf('(x*2 + y*2)")
>>colorbar
>>title('easy surf plotting')
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>>a=rand(1,100);
>>bar(a)
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>>a=rand(1,100);
>>hist(a)
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>>a=rand(50,1);
>>stairs(a)
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>>a=[1 2 3];
>>roots(a)
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-1.0000-1.41421
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>>r=[-1+1.4142i,-1-1.41421i];
>>poly(r)
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>>a=[12 3];
>>polyval(a,2)

Ans=

11
- Gl 338 Ao X=2 (gljl 4 X" 2+2%x+3 dsles

L3S go lne o Sle il 4 1) Wsles s polyvalm a8 cul ;S5 4 ;Y

e Goile e polyfit

b3 il (pelre 425 L) (Gmie 590 0 Sl e L L 2ad o)l bl

39 g0 p3litwl 483 Hgiws opl
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>>[x,y]=ginput(10);
>>f=polyfit(x,y,3);
>>z=polyval(f,x);
>>plot(x,y,x,z);
>legend('main','fitted");
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IR=R3
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06r
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02r
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$l doz 2z Giie polyder

>>a=[3 424];
>>polyder(a)

Ans=
9 8 2

$! do> 2 JIS polyint

- ol 0348 3,19 il ool p2 (51 oz 3z J1SEH i ol ey
>>a=[1 2 3];
>>polyint(a)

Ans=
0.3333 1.0000 3.0000 0O

oS 319 35 )V ol eualysy ST Ul
>>polyint(a,3)

Ans=
0.3333 1.0000 3.0000 3.0000

Sl oz iz O o conv

S Ol ) sl oz iz 95 elgd (g0 sgiwd (ol Uawwsy
>>a=[1 2 3];
>>b=[1 2];
>>c=conv(a,b)

C:
1476
- Cal i 335Le WS> jus puaniis deconv

>>deconv(c,a) - 3 3alg3 0315 (slos b Usles ygiws ol Guwly 4> &S

< g 93 3wl gine QD93 ) Sl oz iz G20 9 Ro> RU

q0
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Gl (Jg020 5 puitio 3z @U Olod 45 o350 2b (9 286 LETU Ol o8 Sabaow U pU 2Ls
y=2*x+3*z Ly y=sin(x) : Wio

bl (0 %l ©ogo 4 L) @lg5 (] Cdie S

39 gasdie 0T sl eyl 2L Jsl dslee SO iy y25 sl

Aol )y iy ymi syms

P*Suaw):o 1) e',ﬁ')é oslaiwl 390 sl ).‘»'.obl..f_J,.'im) C)J__l U g
>>Syms Xy z

>>
23135 (el gad g (el dwi (o0 45 ghilen
>> sym y=x"2 S 3l sym b 1) dslee SO eailgine 4l

P i i 1) S 3 50 @ eailsd (0 Jl>
>>y=x"2+sin(z)

Y:
x2+sin(z)

&U 6135 laio eval

055 (o Ly 25 1) pa3lio Jol 45 (51 95 4. 383 g0 plowil ) Saleoww @ (SJI38 Jlado gt ol
cper 0 IS G g s
( Camsl 035 i5Low b Jlko 1 @5
>>x=2;z=pi/2;eval(y)
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Ans=

10
2> limit
C S o dawloo 23 3l Soluon 3 1) dslee 3> gt (il
>>syms X 'y
>>y=x/\2;
>>]imit(y,2)
A.-SL;oMl.w.ol) x=2 4hi; > Yy o>
Ans=
4
L3S oo Ao ) dslee G
>>diff(y)
Ans=
2*x
39 (g0 dawle YB9) (I 4 pIN 4 0 G il
diff(y,n)
&U Pl a2y pedsS U1 L) O o2 550 e (S bl 2 padlgderg 2bly o juiio aiz dsleo ST 9
‘a9 (50
diff(y,'x")
diff(y,n,'x")
JLSsl int
LS o dunloma | 033 315 @ JISasl
. Cawl diff 3L Preova Jleslatwl 9 5 I8 59
int(y,'x")
iInt(y,n,'x")
int(y,'x',a,b) e gi (g0 Doz ol Sl e 1) 2L slesly 1ol (pamo JLS] oo (gl 0

v



>>symsxyzfg
>>y=X/\2;
>>f=2%g+5;
>>compose(y,f)

Ans=
(2*gt5)"2

&l s 5 compose

23S S 5 1) @U 93 Olgs (o @ (ol dwwg:

L3S o bl |y fg(X))0ka b Og(X) Ola

symsum(y)

symsum(y,a,b)

S Sy fseme  SYMSUM

S (50 duwlme |) 225 319 (RIB) (s mw £ 900

cRU ©D)g0 U (S Egoro

b b ajl g ggomo

>>sym y=sin(x)
>>finverse(y)

Ans=
Asin(x)

A

&L ywoSee finverse
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oSl ow sk jacobian
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>>symsabcecdxyz
>>y=a+2*b+4*d;
>>x=b+3*d+c;

>>z=a+d;
>>jacobian([x;y;z],[a,b,c,d])

Ans=

011 3]
[1 20 4]
[1 00 1]

: Olygiws o>
e @ iy 525 B pao p)lez b Ul ok
L B (50 Tadyl sl s 45 Cuwl jacobian giws poxiy b
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